[image: image1.png]26. The Boxwood Company sells blankets for $60 each. The following was taken from the inventory records during May.
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[image: image2.png]29. The following lots of a particular commodity were available for sale during the year
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‘The firm uses the periodic system and there are 20 units of the commadity on hand at the end of the year. What is the amount of the inventory at the end of the year according to the average
cost method? (Points - 3)

30. On the basis of the following data, what is the estimated cost of the merchandise inventory on May 31 by the retail method?
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